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1,184
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HE: Jlsye 2
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IIEXEY BAAY X (s dAE 221) 82,490 0 82,490
= 48,695
= 9,032
= 24,763
206 M = Hl 58,490 0 58,490
= 36,695
= 5,432
= 16,363
01 X2 H| 58,490 0 58,490
O EMIEM S(1558) 58,490
= 36,695
o=} 5,432
= 16,363
307 QI2t0| & 24,000 0 24,000
= 12,000
& 3,600
o 8,400
02 AI2AtAMAIE E =X 24,000 0 24,000
OEfXl M2 HFOIH A HHAL 22
1,200 «20, 000K 24,000
= 12,000
= 3,600
= 8,400
PHE A XN(HEs PHE AL 29,510 0 29,510
= 20,657
&< 2,656
= 6,197
307 QI2t0| & 29,510 0 29,510
= 20,657
= 2,656
= 6,197
02 AI2tAAMAIE E =X 29,510 0 29,510
O4, WX d8=s FHE gal 2 29,510
= 20,657
= 2,656
= 6,197
FHE WA /(ARSI FHE BHAlL 54,661 0 54,661
= 37,152
o= 4,777
= 12,732
206 M = dl 54,661 0 54,661
= 37,152
o= 4. 777
= 12,732
01 X Z Hl 54,661 0 54,661
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THY A A (ML HAZTE AEYA 25HH) 13,860 0 13,860
6,930
2,079
4,851

HH W

206 M= Hl 13,860 0 13,860
6,930
2,079
4,851

Mo H

01 M= dl 13,860 0 13,860

OFMSE HASIH(ARL) 13,860
6,930
2,079
4,851

Mo R

IS HweE X 43,680 0 43,680
3,104
30,576

EURE

206 M= Hl 43,680 0 43,680

13,104
30,576

UL

01 = dl 43,680 0 43,680

Odg=s MG HA BxH F S 43,680
13,104
30,576

M

= 2 NES 161,750 142,321 19,429
15,000
26,850

119,900

S
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IEZ2e =222 & 61,750 36,813 24,937
12,350
49,400
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307 21201 & 61,750 36,813 24,937
12,350
49,400

EUNL

o
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S
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qEx 61,750 36,813 24,937
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49,400

O
N
i
MO o0
tr

UL

AF

MER oAFH XM X 50,000 35,508 14,492
10,000

40,000

AL

B

M
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02 QI AAIE E X 50,000 35,508 14,492
O=¢t25 o XM e
2,500& *20,000kg 50,000
& 10,000
= 40,000
=AF2F OH2H AR 20,000 20,000 0
307 2Iz2t0| A 20,000 20,000 0
02 QI AAIE E X 20,000 20,000 0
OEAb &5 M2H K&
5,000 *10,000kg*40% 20,000
s MY AZEH XN 30,000 50,000 A 20,000
J| 15,000
o= 4,500
= 10,500
307 2Iz2t0| & 30,000 50,000 A 20,000
J| 15,000
o 4,500
= 10,500
02 DIZHEAAIRE E X 30,000 50,000 A 20,000
OFEEh ¥Hax & 150, 000 x200ha 30,000
J| 15,000
& 4,500
o 10,500
S22X B HdAH 2= 98,447 36,250 62,197
= 6,600
& 7,420
= 84,427
SINsSE 22l & S22 S8 31,000 21,000 10,000
301 et A =2 31,000 21,000 10,000
12 JIEtE2 A= 31,000 21,000 10,000
OfJIIss B2 100, 000 x3005 30,000
OS2SEH S2 0 242
10,000 x 1005 1,000
SIsS 28 - 22 &g 2 2,500 5,000 A 2,500
201 2Et24H Y| 2,500 5,000 A 2,500
01 AP 2t 2] d| 2,500 5,000 A2,500
ORJIsS8 Z& - 22 &dl 2 2,500
SII=E HAIE HMeldl 5,000 5,000 0
201 et d9d| 5,000 5,000 0
01 AR 22l ] 5,000 5,000 0
ORJIIs=S HAIE Healdl 5,000
22X -BsH XA 13,000 3,250 9,750
= 2,600
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= 2,600
&< 3,120
= 7,280
12 JIEtE A= 13,000 3,250 9,750
OFRX B5Hl XN 13,000
= 2,600
& 3,120
= 7,280
SIN=ESSE L& M2 28 AY 22,947 0 22,947
101 e1214| 22,947 0 22,947
04 JIZtHIZ22XNSE S 22,947 0 22,947
ORIISE T8 M2 AlS 22,947
s=25A FSasd o005 A48 & 7,000 0 7,000
= 4,000
= 900
= 2,100
307 2I2t0| & 7,000 0 7,000
= 4,000
= 900
= 2,100
02 QIZHA AAIE E X 7,000 0 7,000
OSE2=N 24sT 05 28Y
10,000, 000& *x70% 7,000
= 4,000
& 900
= 2,100
SsEsdyH 29 A& 17,000 0 17,000
= 3,400
= 13,600
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o 3,400
= 13,600
12 JIEtE A= 17,000 0 17,000
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& 3,400
= 13,600
HES2AAH (=4 86,280 84,900 1,380
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28 X0 AF @ 24H| K& 15,760 13,460 2,300
101 124 H| 10,460 10,460 0
02 JIEA 2 %= 10,460 10,460 0
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OAZ2 =& 2,660
201 L2l 2,400 0 2,400
01 At 22l 2,400 0 2,400
OB A =HX A 2,400
202 4l 2,900 3,000 A 100
01 = LH YI 2,900 3,000 A 100
(@F=48 N0 1:] 2,900
JlE &3l 70,520 71,440 A 920
2t (s EHY) 39,320 41,440 22,120
201 £B-2dH| 13,680 13,000 680
01 At 22/l 13,680 13,000 680
O=N2Y el 800,000& »12& 9,600
O2N2Y =&l 8,000& 17 +304 4,080
202 04l 16,900 19,700 A 2,800
01 = LH o4 bl 4,900 19,700 A 14,800
O2M2g (bl 20,0003 x19G x5 1,900
O=3UWoHI 20,0002 x1H »150 3,000
02 M0 12,000 0 12,000
OEHHH 200,000& x5H 128 12,000
203 YR =&l 8,740 8,740 0
01 /122 =4 3,300 3,300 0
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020198 = At2 & 22 XNEAY 234
020188 FALZ0FHICTE=E N3 ALY 13,380
02 Al - EHIBEXZBEZ 97,083 10,970 86,113
02018 =gl XIS X JALS 6,730
020198 S A8 sER XA AS 450
020198 H=0 H=sdl XNIAY 400
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020198 2SS HE &0t MAXE sHAIY 50
020198 EAt= 0l 22| XIS ALS 120
020198 MXSEDAHE XNSALS 100
020198 St HAH K AS 535
020198 s4tE SE0AE XD sHAIY 50
020198 &SAFNZ2 25 N 160
O2019E SO0HX MALM SEAFALEY 1,779
02019 ElHIKRSEE2X2 KNI AL 30,000
020198 GHAXMAIFINEAMAIFZINE DOHAE X
2AS 1,000
020198 YWsdEMHB 2N XA 10
020198 == 2FH| XNJIAY 10,000
02019 st & X3 ALY 3,280
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M =902 J=Xd L3
Sol: sol o 2a EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 3,096
s 12,384
sEXNEN sHYEEX N 16,380 19,800 A 3,420
< 2,457
s 13,923
201 ¢er24| 16,380 19,800 A 3,420
< 2,457
s 13,923
01 At 22l 16,380 19,800 N 3,420
Osgodle E3(XN=Xal)
1,250 x273H «43| x 128 16,380
< 2,457
s 13,923
4H sHEEX X 2,160 2,820 A 660
< 324
s 1,836
201 Let249] 2,160 2,820 A 660
< 324
[ia 1,836
01 At 22l 2,160 2,820 A 660
O4-H =EEX K& (4-HAZ)
6253 72 43| x 128 2,160
< 324
[ia 1,836
sHgels 2 29 23,000 3,000 20,000
201 Let24d] 3,000 3,000 0
02 =24l 3,000 3,000 0
OAl& & Hl s Xl 3,000
401 A& HIZ 201 Y| 20,000 0 20,000
01 A& HI 20,000 0 20,000
Osogelsiz ge2dd 20,000
Hd=gel HtH™ XI& 156,000 83,200 72,800
= 58,500
i 97,500
301 LA S 156,000 83,200 72,800
< 58,500
i 97,500
12JIEBE43 156,000 83,200 72,800
O&=sgel H2Hd XA
130,000& *1,500H *80% 156,000
< 58,500
[ia 97,500
SEEY AN 29 10,000 10,000 0
201 -4 8,000 8,000 0
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M =902 J=Xd L3
& sgel HH 253 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 2,000 2,000 0
Osgad 825M F &  142,8003+143 2,000
02 2324l 6,000 6,000 0
03323 ¢ HMA(2EXNY BEE S)
1,000, 0002 »2CH 2,000
Oxzgdetdl (S0, 80 S)
2,000,000 *2CH 4,000
203 YR =&l 2,000 2,000 0
03 Al =AY R =& 2,000 2,000 0
OsEgz A™ =X 2,000
ddsgel ds33 N& 43,944 19,866 24,078
= 30,582
< 4,009
s 9,353
201 £B-2dH| 888 713 175
= 444
< 133
[ia 31
01 At 22l 888 713 175
O8A=" S 222,000& x4H 888
2 444
< 133
s 31
307 glz2tol & 43,056 19,153 23,903
= 30,138
< 3,876
s 9,042
02 YAFAANHEX 43,056 19,153 23,903
O2=sdz XNEA3(3Y) 43,056
= 30,138
< 3,876
s 9,042
FUsge FMsA=ZM ALY 48,000 48,000 0
< 14,400
[ia 33,600
307 21201 A 48,000 48,000 0
< 14,400
[ia 33,600
02 It S AHEL 48,000 48,000 0
OBEsYo HsxE3 A
1,000,000 x4 x12& 48,000
< 14,400
s 33,600
SE3 Y Liel KNYAH XA 100,000 0 100,000
< 30,000
[ia 70,000
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CHel: ool oYl B (el @2)
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307 glz2tol & 100,000 0 100,000
< 30,000
s 70,000
02 PIZHEHAHE L 100,000 0 100,000
Os&35Y dXxel XA X 100,000
< 30,000
s 70,000
Fdsgel FHsUEM Arg 6,000 0 6,000
< 1,800
e 4,200
307 glz2+ol & 6,000 0 6,000
< 1,800
e 4,200
02 YAFHAANFEE 6,000 0 6,000
OFEs0 FHsOlEH X8
12,000, 0002 *1JH 2 x50% 6,000
< 1,800
[ia 4,200
sgel d2Jls U= 102,480 98,980 3,500
= 33,800
< 6,000
e 62,680
=g s 249 18,880 15,280 3,600
201 L4l 15,280 14,080 1,200
01 At 22l 9,000 11,000 A2,000
OusuwM M= S 2,250,000& »43] 9,000
02 =24l 3,080 3,080 0
Osgllsll &8 RERS 90,000& *x12& 1,080
OusZH FANE=> 500,000& x4 & 2,000
03 &AL Z I 3,200 0 3,200
Ou=s 294l XA 3,200
— A" S 600,000 x3H 1,800
—uNsE2d =8 7Y S 350,000& *43| 1,400
202 O4dl 3,600 0 3,600
01 = LH 4 Hi 3,600 0 3,600
O=A=Z NI 50,0003 »4H » 182! 3,600
sglls d20s N 4,000 6,300 A2,300
= 2,000
i 2,000
201 24l 4,000 3,300 700
= 2,000
s 2,000
01 At 22l 2,000 1,500 500
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OuM M=, Xtz YXtdl & 1,000,000 *23] 2,000
= 1,000
[ia 1,000
03 &AL Z I 2,000 1,800 200
Ou=s 294l XA 2,000
— A" S 600,000 x2H 1,200
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—uNsE2d =5 7#Y S 400,000& »23] 800
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< 3,000
s 7,000
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< 3,000
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01 At 22/l 7,500 10,000 A 2,500
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< 2,250
[ia 5,250
03 &Ar2 I 2,500 4,000 A 1,500
Ou=s ZA=& S 500,000& x5H 2,500
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s 1,750
sZols 2 16,000 14,000 2,000
= 8,000
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201 Let24d] 16,000 3,000 13,000
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s 8,000
01 At 22l 2,500 1,000 1,500
Oux, =% s M 1,250,000& *23l 2,500
= 1,250
i 1,250
03 & AL2 I 13,500 2,000 11,500
Osgus 249 XN& 13,500
—WE 5 7Y & &I S 500,000 43 2,000
= 1,000
e 1,000
—us ZA=E, @30S FIHA B S
500,000 x233| 11,500
= 5,750
e 5,750
Zas SEXE 36,000 32,000 4,000
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= 13,000
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OLAs A 228 XE S 26,000
D HE Y 2ETY S
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= 9,000
= 9,000
—WE(HA) 2A=E S 800,000& x10H 8,000
= 4,000
= 4,000
307 2iz2to| & 10,000 10,000 0
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= 5,000
02 QIZIAAAIE E X 10,000 10,000 0
O2R% Lis UHELZ2YUMH 4 (1) 10,000
= 5,000
= 5,000
2Aas AlE el & BIOLXSE 10,000 10,000 0
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= 5,000
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S0l SEHH M252 WX 12,000 11,000 1,000
< 3,600
= 8,400
201 gEt24dy| 5,000 0 5,000
= 1,500
= 3,500
01 AP 22| H| 2,000 0 2,000
ORM Mz, Xe 2dX S 1,000,000 23| 2,000
=} 600
= 1,400
03 A2 H| 3,000 0 3,000
ouns 248 2 #¢ S 500,000& 63| 3,000
& 900
= 2,100
307 2Iz2t0| & 7,000 10,000 A 3,000
o= 2,100
= 4,900
02 DI AAIRE E X 7,000 10,000 A 3,000
OssXNc iz 4 NS (1IHal) 3,000
= 900
= 2,100
Q& W4-Ha| MHDNE X (2IHW) 4,000
== 1,200
= 2,800
SENETLY ABAS X 15,000 7,000 8,000
& 4 500
= 10,500
201 et | 7,000 2,000 5,000
o= 2,100
= 4,900
01 AFR 2t 2| H| 7,000 2,000 5,000
Osglls 82N X 7,000
~NEZPY H2CAH 22
5,000 x25H 2=+ 128 3,000
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—sg MEEZAN 2 200,000& x20= 4,000
o 1,200
= 2,800
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